



The effect of deep-slow and regular breathing on pain intensity of burn dressing

Hedayatallah Lalehgani*, Safarali Esmaili¹, Mehrdad Karimi¹, Mandana Moghni¹, Nahid Jivad¹

*1. Department of Nursing, Faculty of Medical Sciences, Shahrekord University, Tehran, Iran

ARTICLE INFO

Article type:
Original article

Article history:
Received: 5 Apr 2013
Revised: 9 Aug 2013
Accepted: 23 Nov 2013

Key words:
Breathing
Pain intensity
Burns
Dressing

ABSTRACT

Aims: Burn pain is one of the severest and most consistent types of pain. Patients who suffer from burn usually experience the highest level of pain at the time of dressing change. The aim of the present study is “determining the effect of deep-slow and regular breathing on pain intensity of dressing in patients with burns”.

Methods: This study is a randomized clinical trial in two intervention and control groups which investigate the pain in 68 patients referring to the burn ward of Kashani hospital of Shahrekord in the period of March 2011 to August 2011 through random and convenient sampling, these patients were in one of intervention or control group. Data were collected with visual analogue scale and analyzed by using SPSS, descriptive statistic test, independent t-test and chi-square.

Results: At first the mean of dressing pain intensity score before and after intervention in intervention group was 5.82, 3.66 and in control group was 5.3, 4.8 respectively. There was significant difference between the pain intensity after dressing in intervention and control groups ($p=0.04$).

Conclusions: Using deep-slow and regular breathing can be an important factor in reducing pain intensity during burn dressing.

Please cite this paper as:

Lalehgani H, Esmaili SA, Karimi M, Moghni M, Jivad N. The effect of deep-slow and regular breathing on pain intensity of burn dressing. Iran J Crit Care Nurs. 2014;6(4):223-228.

1. Introduction

From the time that a man comes into existence feels pain which is always with him with his first normal function that is the first breathing in ectopic environment [1]. Pain is the most important factor that makes the patients to ask for help from health-care systems [2] International Council of Nurses (ICN) mentions patients' pain relieving as one of the five main

stages of nursing responsibilities [3]. Pain society of America has recommended in this regard to the care providers that they have to consider investigating and recognizing pain as the fifth vital sign [4]. Among this a major group that experience a severe pain is the patients who are suffering from burn. About two million burn injury occurs in the United States annually that three to five percent of these burning are very severe that need hospitalization [5].

Statistically, prevalence of burning in third world countries are the same as those in

* Correspondence Author: Hedayatallah Lalehgani
Department of Nursing, Faculty of Medical Sciences, Shahrekord
University, Sharekord, Iran
Tel: +98 381 2228600
Email: memarian_r@modares.ac.ir

European and Northern American countries but the severity of lesions in burn patients of developing countries is a lot. Also most of the burns are directly related to economic and cultural poverty and the age range of 15 to 30 years old are more vulnerable [6]. High frequency of severe burns and the results that this damage has for the society including; death, illness and social and economic costs is a good reason for the health experts and the society to have a special attention to the burn victims [7]. Also the statistic in Iran shows that in 2008, number of the hospitalized patients in Shahid Motahari burn center was 2749 and from April to December 2009, this number was 1929 which is a remarkable number.

Burn injuries is often painful and debilitating [8]. In the study of Mohamadian 2257 cases of burn was reported in Chaharmahal Bakhtiari in 2012 that 55.57% of that happened in women and 44.43% of that happened in men and the ratio of woman to man was 1.25 [9]. Pain which is caused by burn is very severe and burn wound is there until complete improvement. This pain needs high amount of narcotic and sometimes it is resistant to narcotic. In addition to washing the wounds, dressing and physiotherapy which are doing consecutively increases severity of pain [10, 11].

Patients usually experience pain with the highest level during the treatment especially when it comes to changing dressing [12] that if it is not controlled, several physiological, psychological and social outcomes threat the patient [8]. Acute pain which is not relieved leads to depression, decrease of life quality [13], prolongation of stress response after burn injury, patient's discomfort and dissatisfaction, delayed improvement, prolongation of hospitalization time [8] and problems in accepting treatment measures by the patient [14].

Also pain increases a person's metabolism which exacerbates malnutrition, immunosuppression and susceptibility to infection [15]. Based on this, burn pain relief should be the first priority of all the care

decisions. The usual method of controlling pain in burn patients includes; using narcotic analgesic with anti-anxiety drugs [16].

Although narcotics and sedatives reduce discomfort and pain of burn dressing, usually they are not enough [17]. Melzak and Val's valve control theory (1965) was the first theory that stated psychological factors in perceiving pain [18]. This theory includes; physiologic, psychological, cognitive and feeling pain aspects and explains how to control pain by thought, emotions and behavioral methods [19] and also leads the researches towards cognitive behavioral methods of pain management [18].

Since pain is not only a sensory experience and it is also counted an emotional and cognitive experience [20], it is important to use non-pharmacological methods in addition to pharmacological ones to reduce patients' discomfort and pain. Different methods such as: music therapy, study, meeting relatives, massage and also deep-slow and regular breathing are among these non-pharmacological methods [21].

Deep-slow and regular breathing is one of the appropriate non-pharmacological methods which can be used for acute pain such as pain due to the change of burn patients' dressing [22]. There are different types of this technique that includes: blowing with a straw into a glass of water, counting numbers; two, three and four in inspiratory and expiratory. Among the advantages of these methods, it can be pointed to being non-invasive, safe, not having adverse allergic effects, long-term use and simple technique [4].

There were many studies about the effect of every one of non-pharmacological methods of distraction on different patients' pain intensity in recent years and these studies supported using these methods. Since in our country, the effect of deep-slow and regular breathing on burn patients' pain intensity was not evaluated or at least it is not available, this study had been done for "determining the effect of deep-slow and regular breathing on pain intensity of burn patients' dressing".

2. Methods

It was a clinical trial study which had been done on adult male patients hospitalized in burn ward of Ayotallah Kashani hospital of Sharekord. By considering confidence: 0.95% means: 1.96 and test power: 0.80 means 0.84, sample size for every group was 33 people that totally by counting fall of the samples, it was considered 34 people for every group, so 68 patients were chosen from March 2011 to August 2011 through simple sampling method and they were in an intervention or control group randomly.

Age, education level, drug addiction or psychotropic drugs variables were matched. Samples were chosen from the patients that 10 to 25% of all of their bodies were burned, they had second degree burn, they could speak, they were dressed with the usual method of the ward, they were in acute phase of burn (48 to 72 hours after burn), they did not have face and neck burns, they did not have known mental disorders in the past or present, they did not have neurological disorders and as the result numbness in burned limbs and they did not have sever vision and hearing problems.

After obtaining ethics committee approval, the researcher referred to the research environment and by taking written consent from the samples who were qualified and explaining the aims of the study and the importance of that and giving right to choose participating in the study or withdrawing from it at any time and to ensure them about confidentiality of the taken information (demographic features, burn percent, physicians' directions) completed necessary information through using patients' file and getting information from the nurses of the ward and the patients themselves. Deep-slow and regular breathing method and the way of doing that was taught to the patient by the researcher on that same day and it was done with the agreement of the patient, individually and orally when the patient was resting without any tension. A written guide was given to the people of the intervention group. Education was given to the patient in ten minutes through the

following method and the educations were used simultaneously.

1. Put the tongue in the floor of the mouth motionless.
2. Breathe slowly, deeply and regularly (deep and slow inspiratory-expiratory-rest).
3. Don't speak during the process.

Samples' skill was evaluated by the researcher during the process. After educating patients it was asked them to practice in order to achieve enough skill in this regard. In addition, patients' demographic information questionnaire was completed by the researcher and by using patient's file and asking questions from the patient. The intensity of burn dessert pain was assessed by Visual Analog Scale of pain (VAS). This scale included ten-centimeter horizontal line which showed continuum with the marked ends "without pain=0 and the severest pain". It was asked the samples of the study to mark the point of the scale (horizontal line) which shows the severity of their pain or say its number to the researcher, then that distance was estimated and the level of pain intensity was achieved. This tool was used widely and due to the standardization its validity and reliability were proved [23].

After completing training course, at the time of dressing change, when there was the list of the patients according to their entry to the dressing room in the ward (intervention or control group), necessary coordination took place regarding this issue with the charge of dressing room. People of intervention group had done deep-slow and regular breathing during dressing for 15 to 45 minutes, and after getting out of the dressing room and returning to the bed completed VAS scale for measuring pain intensity after dressing.

People of control group also completed VAS scale for measuring pain intensity without any intervention (only routine interventions) after dressing, when they got out of dressing room and returned to the bed.

3. Results

The mean age of the patients in intervention and in control groups was 35.2 ± 10.02 and 34.7 ± 10.04 respectively.

The history of drug addiction in intervention and control groups was 28% and 29% respectively. It should be mentioned that in all of these phases, room of the people in intervention group was separated from the room of the people in control group. The education level of 40% of the patients in intervention group and 42% of the patients in control group was diploma. In statistical analysis by using chi-square test, there was no statistical difference among the groups from the approach of all the mentioned variables and also marital status, economical status, receiving painkiller before dressing ($p < 0.05$).

Frequency distribution of pain intensity after dressing in two intervention and control groups is in table 1 separately. Considering table 2 after measuring pain intensity of the patients of both groups by using VAS, after intervention, the mean score of pain intensity of burn dressing in intervention group was achieved 3.06 ± 1.46 and in control group, it was 4.8 ± 1.38 that according to the report of independent t this difference between two groups is significant ($p = 0.04$).

4. Discussion

Findings of this study indicate that the mean of pain intensity in the samples of the study in control group without using deep-slow and regular breathing was 4.8 and in intervention group with using deep-slow and regular breathing, it was 3.06. Therefore patients felt the least pain intensity when they used deep-slow and regular breathing. This difference between the mean of pain intensity was statistically significant. In another study which had been done by Manzari et al. about the effect of therapeutic communication program on burn patients' pain intensity, results showed that therapeutic communication has caused decrease of patients' pain intensity after dressing change [24]. In the study of Rafieyee et al. with the subject of investigating the effect of jaw relaxation on burn dressing pain intensity, results showed that using non-pharmacological methods of pain relief such as jaw relaxation can cause decrease of burn dressing pain intensity [25].

Jahanban et al. in their study found that in relieving pain and suffering of burn patients, it is necessary to consider psycho-emotional and behavioral response of patients in addition to pain intensity [26]. Also Patreson et al. in their study showed that high score of pain at the time

Table 1: Frequency distribution of pain intensity after dressing in two intervention and control group

Group of the study	Pain intensity score										Total (percent)
	<2		2-3.99		4-5.99		6-7.99		8-10		
	F	P	F	P	F	P	F	P	F	P	
Intervention group	4	11.1	12	35.2	8	23.5	7	20.5	3	8.8	34 (100)
Control group	3	8.8	7	20.5	8	23.5	10	29.4	6	17.6	34 (100)

F=Frequency

P= percent

Table 2: comparing the mean of pain intensity after dressing in two intervention and control group

Groups of the study	Before intervention		After intervention		Significant level
	mean	Standard deviation	mean	Standard deviation	
Intervention group	5.82	1.46	3.06	0.95	$p = 0.02$
Control group	5.3	1.38	4.8	1.1	$p = 0.07$
Significant level	$p = 0.75$		$p = 0.04$		

of dressing (by using VAS) after the event of burn patients is important. Also the high score of pain at the time of hospitalization is stronger predictive indicators in compare with the size or the extent of the burn and hospitalization duration [27]. Controlling burn pain from the initial care of emergency room to the rehabilitation care phase is still as a treatment challenge and although it has been considered as an important clinical problem during the last two decades, burn pain is still reported untreatable [28].

5. Conclusions

So by considering the raised issues, it can be justified that during dressing change, excitation data of spinal valve is more than inhibition data of relaxation and as the result, the related valve is opened in spinal cord and the information related to pain is transmitted to the brain. Finally, considering the achieved findings of this study and citing other similar researches that used non-pharmacological methods of controlling pain for reducing patients' pain intensity, it can be concluded that deep-slow and regular breathing can also be used as a method that which has not been used for dressing pain intensity of the burn patients and it can be used along with other palliative methods in different patients.

References

1. Nikbakht A R. Investigation the effectiveness of Holy Quran sounds on reduction of postoperative pain after abdominal surgery. *Daneshvar. Sci Res J Shahed Univ.* 1996;4(14-13):36-1. [Persian]
2. Frrell RB, Ebert's TM, Maccaferri M. Clinical Decision Making & pain. *Cancer Nurs.* 1991;14(6):289-97.
3. Emad B, Atashzadeh FSH, Zohri S, Ezzati J, Moshtag ZE, Nikravan FM, et al. *Nursing Foundations*. 1st ed, Tehran. Ghazi Jahani. 1995. [Persian]
4. Taylor C, Lillis C, Lemone P. *Fundamentals of Nursing: The Art & Science of Nursing Care*, 5th ed. Lippincott Williams & Wilkins, Philadelphia. 2005.
5. Wall PD, Melzac R. *The pain of Burns*. Text book of pain, 2nd ed. Churchill, Edinburgh. 1994;402-8.
6. Kalantari A. The Invest tigative Efforts on the Care & Treatment of the patients with burns in the future. *Sci & Soc.* 1992;1(5):62. [Persian]
7. Sanchez JLA, Bastida JL, Martinez MM, Moreno JMM, Chamorro JJ. Socio-economic cost and health related quality of life of burn victims in Spain. *Burns.* 2008;34:975-81.
8. ByersJE, Bridges S, Kijek J, Labored P. Burn patients, pain and anxiety experiences. *J Burn Care Rehabil.* 2001;22(2):144-9.
9. Mohammadian Hafshejani A. Epidemiologic Evaluation of Burns and Their Risk Factors in Chaharmahal and Bakhtiari Province, Iran. *J Isfahan Med School.* 2012;30(185):39-42. [Persian]
10. Kleon R. Severe background and procedural burn pain: develop a pain control plan. *Drug Ther Perspective.* 2002;17(20):5-8.
11. Fauerbach JA, Lawrence JW. Coping with the stress of a painfull medical procedure. *Behav Res Ther.* 2002;40(9):1003-15.
12. Robert R, Blakeney P, Villarreal C, Meyer W. et al., Anxiety: current practices in assessment and treatment of anxiety of burn patients. *Burns.* 2000;26(6):495-52.
13. Blak JM, Hawks JH, Knee AN. *Medical surgical nursing*. 6th ed. USA: Saunders. 2005.
14. Prensner JD, Yowler CJ, Smith LF, Steele AL, Fratianna RB. Music therapy for assistance with pain and anxiety management in burn treatment. *J Burn Care Rehabil.* 2001;22:83-8.
15. Latarjet J, Choinere M. Pain in burn oatents. *Burns.* 1995;21(5):344-8.
16. Faucher L, Furukawa K. Practice guidelines for the management of pain. *J Burn Care Res.* 2006;27(5):659-68.
17. Frenay M, Faymonville M, Devlieger S, Albert A, Vanderkelen A. Psychological approaches during dressing changes of burned patients: A prospective randomized study comparing hypnosis against stress reducing strategy. *Burns.* 2001;27:739-9.
18. Smeltzer SC, Bare BG, Hinkle JL, Cheever KH. *Medical surgical nursing*. 11th ed. USA:Williams and Wilkins. 2008.
19. Phipps WJ, Monahan FD. Sands JK, Marek JF, Neighbors M. *Medical surgical nursing*. 7th ed. London. Mosby. 2010.
20. Chan EA, Chung JWY, Wong TKS, Lien ASY, Yang JY. Application of virtual reality prototype fpr pain relief of pediatric burn in Taiwan. *J Clin Nurs.* 2007;16:786-93.
21. Burke KM, Lemone P, Mohn- Brown EL. *Medical surgical nursing care*. USA. Prenticehall. 2003.
22. Mc Mahon SB, Koltzenburg M. Wall and Melzack text book of pain. 5th ed. UK: Elsevier. 2006.
23. Good M , Cranston Anderson G , Stanton – Hicks M, Grass J, Makii M. Relaxation and music reduce pain

- after gynecologic surgery. *Pain Manag Nurs*. 2002;3(2):61-70.
24. Sadat Manzari Z, Memarian R, Vanaki Z. The Effect of Implementing Therapeutic Communication Plan on Burned Patients' Pain. *J Zanzan Univ Med Sci& Health Serv*. 2006;14(54):10-6. [Persian]
25. Rafii F, Mohammadi Fakhar F, Jamshidi Orak R, Inanloo M. Effect of jaw relaxation on pain intensity of burn dressing. *Iran J Crit Care Nurs*. 2010;3(2): 51-6. [Persian]
26. Jahanban Esfahlan A, Lotfi M, Zamanzadeh V, Babapoor J. The Relationship of Pain Intensity, Psycho-Affective and Behavioral Responses in Burned Patients. *Nurs & Midwifery J*. 2009;3(13): 20-8. [Persian]
27. Patterson DR, Tininenko J, Ptacek JT. Pain during Hospitalization predicts Long – Term Outcome. *J Burn Care Res*. 2006;27:719 -26. publisher.
28. Summer GJ, Puntillo KA, Miaskowski C, Green PG, Levine JD. Burn injury pain: The continuing challenge. *J pain*. 2007;8(7):533-5.